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Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, Dec-2020
Irrigation Engineering [CED501]
Branch-CE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
die : faerff yeaua R 8 fad T8 | o ye ga o3 AfErd 2

YT %. 2 9 . 8 a® # =l urg &1 Sux < rfard 2

Q1 Multiple Choice Question / e w1 [2x5=10] Marks

(i) Canals constructed for draining off water from water logged areas, are know
I WRIG dTel &3l 3 T B MRl & {991 T8 T8N S ol € —
(a) Drains / g9 &
(b) Inundation canals / ¥+ 3varE @&
(c) Valley canals / w9 agf &
(d) Contour canals / aa %a€ &

(i) The difference in level between the top of a bank and supply level in a canal,
e o & MY 3R Ta TER H YRS WR & 99 B wWR H AR BT FHET I ¥
(@) Berm/ s\ (b) Free board / g 9
(c) Height of bank / §& @1 $=r8 (d) None of these/ s & ®1g 78l

(iii) The scour depth D of a river during flood, may be calculated from the Lacey's
¢ & IRME TH T BT GG TEE S Bl TUET o & FHIDIOT F DI O Tl ©

(@) D =0.47 (Q/f) (b) D =0.47 (Q/f)1/2
(c) D =0.47 (Q/F)1/3 (d) D=0.47 (Q/f)2/3
(iv) Disposal of extra excavated earth of canals,utilized provide a spoil bank on
TRl @ ARIRE GaE dTell exe o1 FUeH, R U6 BRE §6 JaM &3 & fog ST
(a)Left side/ a1 =R (b)Right side / rse wES
(c)Both sides/ aFt Tw® (d)All the above / SwRrB w4t
(V) In a chute spillway, the flow is usually.
Ud <ol Ruerd #, Wdare AM@iX 9x &har @
(@) Uniform/ =<t (b) subcritical / Su—Teifa®
(c) Critical/ fwfeama (d) super critical/ gw fhfewa

Q.2 (a) What do you mean by gravity dam? Describe various forces acting.
TRCATRYYT e | IYHT FIT Aqerd ©° [HeaIpyoT qiel IR A= aredl |

(b) What is spillway and its types of spillway.
e ik g9 UaHR @ Ruer @ 82

Q.3 (a) What are the types of failure of earthen dam and gravity dam.
gl Y SR [oErHyYT 9 HY AT & USRI 57

(b) Write the components and functions of gravity dam.
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TEATHY T & TeHl 3R FT BT fored |
Q4 (a) Explain advantages and disadvantages of bandhara irrigation.

R e & BRR AR Jead R & 9arsu |

(b) Explain head regulator and Canal escape with neat sketch
e g B T RR e ok 75w 9 99

Q.5 (a) Explain difference between weir and barrage
R R RS & I SfaR 1 |

(b) Draw a typical cross section of canal in fully cutting.
T TRE ¥ Fled § TeR BT (P 98 UR AFINT il

Q.6 (a) Explain the method of calculation of runoff.
A @ oA B AR BT oI BT |
(b) Define the type of irrigation in detail
RraE @ YpR & R ¥ aRyrfd & |

Q.7 (a) Write down detailed classification of irrigation.
Riarg & fawqa avffaxor & ford |

(b) Define unit hydrograph with sketch
T B AT SHIY SRSIUTH URITRT B |

Q.8 (a) Write advantage and disadvantage of lift and flow irrigation.
fore sk garg RfAS &1 A &R JoHa ford |

(b) Explain the methods of irrigation with the help of diagrams.
NGl B Aeg A Rias & T A 9arg |
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Note : Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

i : faenefl ey R §8 fod 781 | Yo e gd -1 a2 |
9 ®. 2 4 ®. 8 a& A &2l wrd &1 IR <A1 AfFEr 2

Q.1 Multiple Choice Question / gwgf-s g [2x5=10]

() 1 One hectare meter represent a volume of:
Teh BN HIeX ITRICH 81T & —

a) 1000m?* b) 10000 m? c) 100000 m®*  d) 100 m®

(i) In 1 m*RCC The amount of cement -
1 m°3TR.E.HY. # HiiT i AT -

a)6.50 bags b) 505 bags c) 5.80 bags d) 5bags
(iii) The area used in a room-

TR BT AT i SYINT H AT STl & —
a) Carpet area / dRYE &
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b) Plinth area / feeier &
c) Built up area / foee 3 &=
d) None of these / 7 & &1 &

(iv)  The unit weight of R.C.C. in kg/ m®is —

R.C.C & 37 vR fheit/ T7° &
a) 1200 b) 1800 c) 2400 d) 3000
(V) The volume of cement in a bag —
Te ST § HHET BT I —
a) 0.005 m*® b) 0.001 m® c) 0.034 m® d) none of these

Q.2 (a) Define Estimate? And Write types of Estimate?
YTt et aRTST TRy I8 fram TR & 81 8

(b) Explain the difference between administrative approval and technical sanction?
HRIRADI T IT Tef Tepf-iehl Hodl H 3R TE HIFY ?

Q.3 (a) Differentiate between plinth area and floor area and carpet area
fecter &t 3fiR el & iR B1ef & & i JieR a2
(b) Define these:
Ry & —
(i) Cubic content method / &gferes see fafer
(ii) Service area method / @i gars fafer
(iii) Plinth area method / et &awher fafer

Q4 () Explain differences between revised estimate and supplementary estimate
TN SFTAT 1R R SFTHI o e 3R qaTY
(b) Calculate the quantities of various material required for cement concrete

1:4:8 for 85 m3
85 U 3 & foTu HiHe dehic 1: 4: 8 & o7y 3maege faftr Grft &t J1= &Y TorT

Q.5 (a) what do you mean by rate analysis.
SR 9T & ST T Felerd &

(b) Define procedure for building detailed estimate and types of method.
faRgeT 31T 31IR ffer & PR o FToT & foru wfsham ot aReTire ey

Q.6 (a) What is SOR and DPR?
THIMNAR 3R SR Far &

(b) Write short note on contingencies work charged establishment
JMHRABATN OR AT URTSH BT TR WHfem e ford

Q.7 (A) Calculate the quantity of cement, fine aggregate, coarse aggregate for 5 cm thick cement concrete floor
in 1:3:6 mix in 80 m square area
e BT F1HT DT TUFT IR, Sl P, 5 THT AICT AT Behic HivTeT P (ot AIC Pef 80 HIex o &
1:3: 6 fosr
(b) Explain mid section method
I GE fafey &t e ax

Q.8 (a) Write trapezoidal formula for calculating earthwork
R &Y TUMT & fofT trapezoidal I ford
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(b) Write the rules for deduction of opening in masonry in calculating plastering
AR &Y T § RFATE & @Wie Y ekt & Frdl o) ford

Enrollment No

Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, Dec-2020
Work Organization & Management [CED503]
Branch-CE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

e :

Q.1
()

(i)

(iii)

(iv)

(v)

Q.2

Q.3

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

faemeft yeqra R 68 fad 78| oM e ga &er Afvard 2
9E %. 2 9 8 9% A &8l ura &1 SR 3 Afard 2

Multiple Choice Question / a&jf= ge— [2x5=10]

Which form is used for preparing running bill-

T, W IFF T B fIQ B A1 B ggad far ofer § —
(a) From 24 (b) Form 26A
(c) Form 27A (d) Form 28

The measurement are recorded for preparation of bill by-

SHIR BT I 1 & forg s o) 719 Fxar 2—

() Time keeper /&%y Urelsh (b) Assistant Engineer / \erae I3
(c) Senior Account clerk / aRs orar fafde  (d) Sub Engineer / Suaizt

The amount submitted by contractor with tender called

ffIeT & 11 SHIR N UG @1 <IRT BT HeET ST & —

(a) Security deposit / e ST AT (b) Earnest money / T I1RR1
(c) Ernest amount / srrera =1fr (d) Appropriation / fafe=rT wfér

In measurement book page are numbered-
A9 gRAa®T § gl & HAG QU W -

(a) Hand written / grer & forg oa 2

(b) Machine numbered / #2f= & el oIa &
(c) Not necessary / smawas & &

(d) By pencil / 3~ &1 ford 7 wandt &

CPM is-

Ardgw -

(a) Critical Project Management / fssfeaar vroiae Heoric
(b) Critical Path Management / fssfewa drer #eoric

(c) Critical Path Method / fsfemar uter #ere

(d) Crash Project Method / w1 Wiotae #ere

(a) Draw a neat sketch of hierarchical structure of state P.W.D.
5T I STY L. B URTIEH T W BT Ud A% Whd a1y |

(b) What are the purpose of maintaining order book?

3SR g% TIY I BT T Igae 87

(a) Write the difference between item rate contract & lump sum contract.
JTSTH TR AFEY AR THIRT 3Jad & §9 3feR fored |
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(b) Explain definition of tender & necessity of tender.
ffaer ok ffaer @ sravadsdr @1 aR¥T & e HIRTY |

Q4 (a) Explain the importance of management in civil engineering works.
fafdd gonfaRe srt 3 Jees & Aec @ SRR BT |
(b) Explain technical sanction and query chart.
qE-a g iR T = aHssy |

Q5 (a) Explain definition of contract and of contract.
IS BT URHTT 3fR IFEY BT ARG B AR N |
(b) Explain method used in P.W.D. for carrying out work contract method.
B ey Iy < @ forg N d § Ay SwanT @ @ $if |

Q.6 (a) Explain the meaning of book transfer?
JId AR & 37ef @) AT N |
(b) Explain the necessity of maintaining daily diary.
1 SRR 9 I B SMITIHAT B ARAT HITOIT |

Q.7 (a) Explain in brief permanent imprested account and aims of labor legislation.
SHIR BT AWAT SIRT BT B AfhaT qarg |
(b) What are the important function of trade union?
YR Y 6T Aedqol B FT 57

Q38 Explain the following :
frforRaa @ eren I -
(i) First and final bill / ugan =ir sifom faat
(i) On account payment / @rar 9ar W
(iii) Final payment / siftm a1
(iv) Advanced payment / S=1d g

Enrollment No......oovvevervvevcrnennnns
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Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9
i : faenefl gy R 8 fadd 81| yer yed a0 &_A1 a2 |

9T %. 2 4 9 T A &gl uig &1 SR <1 ifard 2

Q.1 Multiple choice Question / axgfs ye= [2x5=10]
0) CBR method is used in design of:

CBR U &7 ST FrfeiRad & fEoms= 7 fopar S &

(@) Super elevation / gw sar$

(b) Gradient / =zt

(c) Pavement / gearer

(d) None of these / % & o¢ =

(i) Dowel bar is used in: fer ar o1 Sy far S &:
(a) Constrution joint / &g sg®
(b) Expansion joint / frar wgw
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(iii)

(iv)

(v)

Q.2

(c) Transverse joint / srgreersig
(d) Vertical joint / afémer sige

Mud pumping is associated with: & uffr & arer ger gam &:
(@) Tarroad / er3e

(b) Hill road /uerst wes

(c) Village road / wfa & wes

(d) Concrete road / e & wsa

The maximam width of vehical as recommanded by IRC is:

IRC grr sreifia aredt 6t sifera dteré &

(@) 1.85m (b) 2.44m

(c) 3.81m (d) 4.72m

Purpose of providing camber to the road is: wes w e Suety o™ o1 38T &:
(a) Drainage from road side / wea fom & oot Forf

(b) Drainage from road surface / wes 6t wde & st fFrarit

(c) Prevention from skidding / ReféT @ sama

(d) Prevention from overtaking / sie=efi & sama

Name the different test performed on aggregate and explain which is performed to test hardness

of aggregate?

Q.3

Q4

Q.5

Q.6

2t R by U =T oReron @1 1 S Y o ISt &t oI T BT TR R o foTu T fohaT ST 87

Give the classification of various traffic sign with one example of each and draw neat sketch?
I & Teh I&TeRvT & AT fARFT 2fther AreT o1 Rffepvur < 3iik |Tth T sHT?

What do you understand by prime coat, seal coat and tack coat?
TS BIe, HieT DI 3R SH DI A MY T FHA 872

Explain the term borrow pit, spoil bank, lead & lift?
IR A TS T3, b BT TR o1, AT 3R forore i camear aw?

Explain types of pavement .Name and explain different joint given in concrete road with

neatsketch ?

Q.7

Q.8

Q.9

TR & GTUT i AT B T 1R Thel o AT Dehic IS H fY T STeTT-31eHT Hgh faawur?

Differentiate between super elevation and pavement.
YR TS 3R Pearer & I 3R TIE S

Explain CRB in detail.
CRB # fydes =g Sifvml

Write short note on : g R wfém Ae fora:
(1) Arboriculture / sméfmea

(2) Super elevation / gur ars

(3) Ductility test / wr=iema wdteror

(4) Pre mix carpeting / qd firsior srefs s=mm

Enrollment NO......coveeeeerevevnenen.
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Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, Dec-2020
S.D.D.-1 (RCC) [CED505]
Branch-CE
Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faenefl gy R §8 foad 781 | yo e gd &1 a2 |

9T %. 2 G %. 8 d® d &2l uig &1 I <1 Af@rd 2 |

Q1 Multiple Choice Question / exgfrss gz [2x5=10]
Q) For M.S. grade-I1, the maximum value of neutral axis XyMAX

.. Te- | & forg dqewer ater Xy MAX & siferepas gea

(a) 0.416d (b) 0.53d

(d) 0.67d (d) 0.42d
(i) Curing of concrete is done for

eI Y avTE HY A &

(a)1l4days (b) 3days

(c) 7days (d) 28days

(iii) For M20 concrete maximum water cement ratio will be
M20 dshie & forg e art Hisie srura erm
(@) 0.4 (b) 0.6
(c)0.8 (d) 1.0

(iv) The diameter of longitudinal bars of a column should not be less than
T & P e AT o T § HH T8 8T A1feY

() 12mm (b) 10mm

(c) 8mm (d) 6mm
(V) Flexural tensile strength of concrete

FIhIT bl T el A= cTehel

(2)0.4vfck (b) 0.5vfck

(c) 0.2vfck (d) 0.7vfck
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Q.2

Q.3

Q4

Q.5

(a) Discuss in detail the various assumptions in Limit state method.
forfire wee fafer & faft=T Ar=ararsh w == ol

(b) Write short note on: f=ifeiRad w= fewuft forRag
(i) Under reinforced section / seferer s

(ii) balanced section / wgfere s

(iii) Factor of safety / gzem & ®r&

(iv) over reinforced section / aifere vafer argHmT

(a) Discuss various types of foundation.
B & IR YRT 0= 74t ol

(b) Explain stress strain curve for mild steel.
&b TN o foTq T fIPier & b bl TSIy

(a) Write assumption of working stress
afT T fafey T gderRAT forRay

(b) Explain R.C.C. section.
TR ST T THSTSY

(a) Draw stress block parameter (L.S.M) diagram for R.C.C section?
SRR SFTHT & folY TG scife b URTHICR BT o7 & AT TR

(b) Explain classification of R.C.C beam section (W.S.M) on the basis of quantity of

reinforcement

Q.6

Q.7

R H AET P AER W ARSEYE) Jaed  dW @ A F Fflexor b @ dee

() Explain under reinforced, over reinforced and balanced section.
yaford, 31fie Taferd iR Fferd ST TT BT FHsisul

(b) Write short note / wfém Aire for -
(i) Flexural strength of concrete [/ wishic & eriielt dremd
(ii) Richter scale / Raex @bt

(@) R.C.C beam of rectangular section 200mm *550mm deep is reinforced with 4 bars of

25 mm diameter at an effective depth of 500mm using m20 grade and fe-415. Calculate the moment
of resistance (L.S.M)?

STRITPR ERT 200 Pt *550 oY TeRTE & 7 6 AR BT 417 &f AT.25 Hex Hiex @ & 4 IR & A1 TF 20 IS 3R [h3-415 T
SN <p 500 Foreft BT Tt TevTs OR Forqet fopaT ST 81 HTRTer & &10T (TeTQRATH) T fidher
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Q.8

(b) A rectangular R.C.C section 250mm * 500mm effective is provided with 3 bars of 10 mm.

Tep SRR 3R SFTHRT 140250 T *500 et srarelt 10 et & 3 AR b rer U fopam orett &
i) Actual N.A. / arfaes g

i) Critical N.A. / ™R tg

iii) Allowable bending moment / =i gt el

() Explain doubly and singly reinforced section?
I 3TR 3Febell aferd TS THSTIAAT?

(b) Explain advantages of pre stress R.C.C section?
O T TR AT SFHIT &1 i &7
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